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1 Explain the systematic process of digital system from design to Embedded system design. [10] | CO1| L1

2 Develop a sequential circuit that has a single data input signal ‘S” and produces an output ‘Y’. [10] | CO1| L3
The output is ‘1’ whenever ‘S’ has the same value over three successive clock cycles, and ‘0’
otherwise. Assume any value of ‘S’ for a given clock cycle.

3 Develop a verilog code to find a given year is a leap year or not and generate a leap year flag. [10] [cO1| L3

4 Develop a verification module for testing a design which down counts from ‘99’ — ‘10" and [10] [cOo1| L3
repeats till input ready signal is reset.

5 For complex multiplier unit having 8 pre binary and 8 post binary input’s, design the data path  [10] | CO2| L3
which performs multiplication and stores the result in 64k x 8 bit memory (use 16k x 8 bit as
component memory)
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5) For complex multiplier unit having 8 pre binary and 8 post binary input’s, design the data path which
performs multiplication and stores the result in 64k x 8 bit memory (use 16k x 8 bit as component memory)
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